CPAT® —HZ29Version ~== 7 /b

O i T oM E

IS IS 4 i IS A e 4 o
1 TT BE R (B 24 QG SEERRIE )
2 EA B B 25 CF TR B
3 EAS v R 28 PG/EA T T
4 EA i B 29 —QG/EA | FEEHIEEN
5 EFS G AR A 30 VPYACT | MpFeBRE (RrZsifig)
6 EF S E 31 VPWQ AKHpEE ()
7 CCG FEEEIREDR 32 VPH Ko ()
8 0 0.0 (TH) 33 VPHO WIEKEEZE ()
VN b A PISG
9 AG PEMRARA  (rad) 34 VPPCY g%;%%ﬁ%;ﬁ£ﬁ*ﬁw‘
YN AR
10 | sG A 3% | VPQCY %””%y“@?ﬁ )
11 TQG FEeEM RS vy 36 VPCFD D#RREEERE (AT
12 TQT Z—r ) 37 VPCFQ Q Con )
A2 -# ACR
13 CCG FEEEREREIT 38 VPCSD DEWRBEEMBEE (1 )
14| TQTS B— eI % | veesq | @R TACR
15 PGS RS L oI EWAL I 1N 40 VPFRQ D QielsE R SdwzE (1)
N = Ek:tnu % = x
16 QGS PR 41 | EAT %%ﬁ%gﬁ<““*7/>
17 GPF FEEHER )R 42 QCNT 1 YL — o v A K DRGE
18 OMG Ui R R 2= 43 QCNT2 LEALS
19 QG/EA B T LB EER 46 VPEFQ QST (FTZ5E)
20 EA i - 47 CAD Dl -
21 OMG i 1B K 22 8 | CAQ Qflr v
22 CCG FEEEE 49 EA3 FEEMSTEIE (3FA D 7 )
| rc e GELv 50 | CCG3 TR !

[CPAT| 1%, BRI OBGRRHIE T, (BEFE S : 5 4843036 %)

1



CPAT® —HZ29Version ~== 7 /b

@i T o7 ny 7 ¥E—H
1 SIER KON OUT B ClIdshit o7 oy 7 EHERH Y £

KSB

>

7oy 7 K

FI39 fiE

NF1 —>

A
(8D

MUy EEA)

NF3, NF4 M4 2546

U 3w & ERRfE=nin (¥IHIE NF3, U)
T RfE=max (FIHE NF4, L)

U 2w ZEIAT (Gl H non-windup)
windup X7 T ZFREDHH

NF1 —>

0
(H1 /1)

BN
KSB=3: AJ1HY I v &K
5: 1 & il
6 : 1 & H
S I RERE] 1/4 CTRESy
(#£) KSB=3, 5 TT<DS/2 72 513,
KSB=9 & L, DS/2=T<2DS
72 51%, KSB=6 (2 A B A H
Iha,

NF3, NF4 Z{EHT 5854
U X v & ERRfE=min (WIHME NF3, U)
T BRAE=max (FIHIE NF4, L)

U 3 v Z&PA] GAK  non-windup)
windup (X7 7 7 fREN M HE

NF1—>

GS
1+TS

R

« RE oy Bk
AT7 1D H

NF1—>

1+GS
1+TS

R

- HEAEN TS
AT 1R D F

NF1—>

ALY I HEHR
AT 1 E D F

T=0.0—Gain=G
T#0.0—Gain=G/T

10

NF1 —
NF2 —

R

- N EESE

2 flH D DI




CPAT® —HZ29Version ~== 7 /b

KSB PAR=E A W fE B e
N . N N s feten =
11 \F1 _ AREE A A INE B
NP2 —H TR N - A7 4 CRlfE
NF3 —| :
G, T, U, LTCHEANDTA it
NF4 — EY 5.
12 R R
NFl ——
\F2 7®—9 * 2 fHOBORSL
13 RE - RS
14 NF1 —
NF2 —> KSB=13  AJj2 (NF1, NF2)
NF3 —> LV.¢ = FA U (G, T, U, L REE)
n =14 AF14 (NF1~NF4)
NF4—> BA AT G T U, L CTEAT
DIFA v EYEET D,
(KSB=11 & [FkE)
15 E - B ESE
16 NF1 —>
NF2 —> KSB=15 AJ32 (NF1, NF2)
| V6 YA (6,10, L, R )
1 =16 A4 (NF1~NF4)
N4 —> B4 A (KSB=14 L[AIL)
17 NE | e ER (R
NF1 — U<x — y=G (x—U)
(x) T U (y) L=x=U— y=0
x<L — y=T (x—L)
18 RE - ISR (R
NF1 —> > U<x — y=x+G6—U
(x) (y) L<x<U— y=0
X=L — y=x+t—L
19 P - IR SR
(tHA71E)
R I L e ASH G U TI A - 7 (+1) X0
HIHE 1+ T DRSS E TIIIIE A H L,
FNLBROEINEL LD 8EE




CPAT® —HZ29Version ~== 7 /b

KSB A= WIHE % He
20 R cERIEEER (VR v )
y x=G — y=T
G Z L—T
NF1 —> —> G<x=U— y= —G) +T
w|_L 10 [® * Y=g &0
U<x — y=L
21 N - IERRIE SR
%o, X4, Y))
NF] —> 2, 12/ (Xs, Y3) N ALY G 1), ) U, L),
) 9 Y &) (X1, Y1), «eee LRIET D,
(GT)
22 WL s B AT U AHESR
G (H A1)
VF1 = 14 T >
L U
23 R J— hESR
NF1—=>| /G *|X >
(x) | | (y) Y:VG*|X|
24 E E|R TR
NF1—> W
(XI) >
NF2 — Xe
(x2)
25 WL - EEESE
(Yo)
NF1 O PIIE D £ % O FIHE (%) +Y0)
(x1) ) BRSNS,
26 R « AA v F[AlEE
NF2
(x1) Ccz) L=<x2=U - y=xi
NF1 =
(y) x2<L
NP3 (x3) or —  y=Xx3
U<x2




CPAT® —HZ29Version ~== 7 /b

KSB A= WIHE % fe
27 R - BRI ER
NF1 —>
NF2 — MV.GC >
NF3 —>
28 R - SIN 3iz%
Y=SIN(x)

NF1
? SIN(x) ?y)

29 R - COS i34

Y=C0S (x)

NF
o B

30 R  INEER B TR b

Y=1INT (x)

NF1
? INT (x) ?y)

31 R - BEfEE N ESE

LLFoi@Ey
FEFUIRFHR] U
N> 6 T ¢ A6

v L] b s

tASKG Tt to
U

wn [ LT 7 LI T L

L t+T t,+T t,+T t,+T

32 R - REfEE N SR

LUFos@ v
AL U

ol et RO A G_i_-l_

L t, t,

ILH_I_L_I_I_

t,+T t+T t,+T t+T




CPAT® —HZ29Version ~== 7 /b

KSB A= WIHE % fe
33 R - FRENERR L BESR
AR IRREHE U
NFl—>| ¢ T
(x) L 7&’)
i U :
t,+T t,+T
34 RE - BEfEE N ESE
FEARER] U LLFom@»
NFl—>| ¢ T
(x) L 7&’)
, .
w0 L 1 |
t,+T t,+T t,+T
35 R - REfEE N ISR
FEALRERH] U LLF oy
NFl—>| ¢ T
) L ) | -
Hjﬁ[LJ |
t,+T t+T  t,+T
36 W o MEBKRER SR
FEAURFRE ('L'Eljﬂﬁ)
= e
y
51 W KSB=1 %M
NF3 cUIvH ER=mnin{ U, x3}
. 1/ IE ’
(xo) U (H17548) U v FiR=max{ L, x4}
G *NF3, NF4 DFE ST Z D7 10y 7 B
NF1—> 3 = (y) X0 EHFT NS, NFAD Ty
L THIHMERE E DT,
NP () 1
52 DAL c H T a Ry NEREES
NFB—\I NF1 & 0 O
o) J (i) <0 —AS=-1.0& L THL
G =0 —y=x3
NFI(? T —> (y) (L=y=0)
x L NF1 72 L 0O
<y —AS)=-1.0 & L THY
3=y TV=Xj
L=y=0)
¥ NF3(X3) IX4ZH




CPAT® —HZ29Version ~== 7 /b

KSB ZAR =R WM B e
53 N - AND [A] %%
NF1—>
(xy) AND S X]>0.07§E>/) X,>0.0 DIFEY=1.0
2 —> () D OIF Y=0. 0
(Xz)
54 R « OR [A]#%
NF1—>
(x1) OR S x>0.0H L<iEx,>0.0 DEFY=1.0

NF2 —> (v) Z O DFE Y=0. 0
(Xz)
55 R - NOT [1]#
N1 NOT > %,>0. 0 O#F Y=0.0
(x) (y) ZDOMOKE Y=1. 0
56 R - Y SR — L R
T: %70 7R
y GxX
NF1 —> Ve —>
A
() A=) K )
i‘T’i t
57 B MY TR —L R 4 LA

(H i) T: o7V TR, 74 LA R

y

NF1 —> H 7 —>
(x) A—L R (v)

T4 LA
t
o8 R
NFI(%)
i VX124 X 22 o
NF2 —> v
(Xz)
59 R
NF1—> X2
aAR2
(x1) tan i |
NF2 (y) g
%

(Xz)




CPAT® —HZ29Version ~== 7 /b

KSB 7 a oy 7 HIHE % fie
60 W Uty hADEL OB S
s U (7 fi) NF2=1 IT32H B o720, U
N > b4 ]\,9;_‘50
TS . (FIHMiE)
1
NF2
61 R NF, =0 y=x,
NF2 > Hw +—> v NF1>O y Eﬁfﬁ{%ﬂ%ﬁ
N — 1
62 . R T : A4
NFl—> X t
0 — =X
T

! ; - AJT X DAEIZ XV L 20E ¢ A8
- ’ ' Bl 5,
0 ] 1

e

63 R R A SR
G:7Av
®) L| @ U, L:UIv¥fl
64 WBE TV Tay S
G :Set:Reset ® L &\ MV
NF1—>| Set T :T=0 T Set {21
(Set) Q T<0 T Reset 12 5 &4t
() U :Set 5% ON BFH Jfl
(Rocory LReset L : Reset {35 ON o> i
65 P - FIERFEER BN
NF(? : i/ NF5 : REEEIMHBA T
u U NF7 : _EBRAE DS AT
. 1 J 2 R NF8 : FRRAEDINHA S
P —— T2 EREE
L+ Tas L, | U2 ¢ ERRAE
L2 : FHRME
S
NF8
(1)




CPAT® —HZ29Version ~== 7 /b

KSB A= WIHE 3 ({5
66 NF7 R | - AL
(w) NF5 @ 3171 L— MMMBAT [1/53]
NF5 ( %VHI‘) NF6 : {Jﬁjﬂ"ﬁ] Lr— F%%B)\j} [1/%\]
NF7 : EBRIEDOSETAT
NF8 : FIREDIEHAT]
L= > G2 : WL — b 1/5] EfE
3|> ) T2 W L— R 1/5] Al
U2 : LRRAE
L2 : FIRE
<m D .
NF8
(1)
67 A - P T fil4E
NF7 NF7 @ EERMEDSEBAT
(u) l NF8 : FRRAE DS AT
U G2 BT A v
2 T2 BisWEEE
NF1L —> P I > U2 : ERR{E
L, (v) L2 FRRE
NF8 T
(1)
68 R cL—MIAAL v T
(=r1) OFF:x1 ON:x2
0FF NF5 : L— 1 DA ASI[1/55]
NFT —> O~ NF6 : L— | 2 DANBASI[1/55]
(x1) O > GL : NF3 o ON, OFF H)#% L & \ Mg
NF(Z )e O on ) 62 - L—P1[1/%] FiE
x2 T2 : L—bh2[1/%] AlE
’ )
(On/Off
NF6
(v=12)
69 AR5 AT AT —2 AT
NF2 : 7 — 7 LR
; G TFT—TNTF—2 AT IHEE
NF1 — L (B 81~98) EEH TR
CON Q\ - T WU AR
k) * U T—TNT—HEHALE
0:3—4r L AAS)
1:V9A4 2 AN




CPAT® —HZ29Version ~== 7 /b

KSB 7 a .y s WIHE 3 (i
70 AR < U v A IRFEEM ER
U AT 18D H
GS
NFL—> 1@5_[ — T=0.0 : AJIARHA[
L
71 R < U v A fHEREN TR
U AT 1D F
14GS
NF1—> 1+TS — U 3 v Z I A G8 % non—windup)
L Windup (X7 7 o @M M

G=0.0 : AJIARAf
T=0.0 : AJIRFA]

- D < U Xy &4 PID HiI4E 1
- o ATT LED H

T2 . G1S
S 1+T1S

U X v ZEPA] GAR :non-windup)
RN Windup 1£7 7 7@ DS L8
T1=0.0 : AJIAH

G1=0.0 : U I v ZERATD PT il
J L1 & U CEIE (3% :non-windup)

NF1—>| G2 +

73 DA < U X v ZfFPID HIMH 2
" AJ) LD
r

NF1 U X v # Y] (B non—windup)

2 G1T1S . ST
- <G2 : )(1+ > windup X7 7 ZHaE D 2R
128 G1+T1S T1=0.0 %7-1% 61=0.0

DU o XN PT il E LT
| L1 B{E GEH :non-windup)
T2=0.0 : AAFRTA

74 R < 2 WAGEERA S SR
AT71A{EHD F

GS?+TS+1

Nl = ————— >
US*+LS+1 UDH* 0.0 AFIARTA]

75 AREL - FEEBASE R
X1
NF1 —>

X2
NF2 —>|

X2 NF1 @ BFE%% X1
X1 — NF2 : f84 X2

10



CPAT® —HZ29Version ~== 7 /b

KSB A= WIHE % fe

76 RE < AA v FIRIFEHR
NF2 NF3 NF4 A4 1A

X2|, X3 X4,

¥ X1 < T

NF1—> —> T

U

L

= X2
= X3
X4

X1 < U
X1 < L
X1

A IA IA
Ll

KSB =4 WM % e

100 REL J— R, RBEKEE

J— 1 - AR
# ® [
(y)

199

200 AR 7T UoF R

KSBIZL» T &%,
299 201 NF I P
202 NF il Q
203 NT f| P
A LS 204 NT I Q
4 =4 () 251

252 =

i FEROIHIE
254

} NF—NT 723 1E

TIF ]’ NT—NF 725 1E

11





